Question Paper Code : 3623

M.Com. (Semester-II) Examination, 2018
APPLIED ECONOMICS
( Advanced Economics Analysis-II )
Time : Three Hours] [Maximum Marks : 70

Note : Answer five questions in all. Question No.1 is
compulsory. Besides this, attempt one question from

each unit.

Bt U He B X AT weT €. e 1 3
STTET, U0 3ls § W U9 it

1. Answer in brief the following questions : [3x10=30]
fr=fafed oo & dfrd I 4R ¢

(a) What is the difference between production cost

and selling cost ?

ST AT J9 R A § 9 Rear @ 7

(b) Diagrammatically explain different degrees of

price discrimination.

FERl &1 9o fasie &1 R ARl & aEET
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(c) In a market individual demand function is :
Qs=25-P
the supply function is :
Qs=-10+2P

If the number of consumers is 100 and the
number of sellers is 50, you have to find the

equilibrium Price and quantity in the market.
T IR 7 TF IO B AT FE 8
Qs=25-P

wd 9fd He B

Qs=-10+2P

e AR 100 IYAFKT T 50 fagkar § A
TR 5 H & & IR F dge g o
o T e 7

(d) Briefly explain Schumpeter's theory of Profit.
JHIeR & A9 & HsT bl §aY § aHeu

(e) What will be the shape of long run supply curve

under constant cost industry ? Give reasons.

ReR ARG TR § e O @ Bl SR
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T AN SR § IR 66 % Q,=180-3P ¥
il Al & SR e qed T AR R el
5Ed JRie e 1 enT ?

Explain the marginal productivity theory of wage

determination under competitive and non-competitive

conditions in factor and product markets. [10]

Y T e oY A Ui qen IR-sfeafer @
Refer 7 Horgdl FeiReT 1 QT STkl st THesul

UNIT-IV / F&E-IV

Discuss the Keynesian theory of interest. How does a

change in demand affect interest rate ? [10]

P F o7 (G Bl [T HITT G1T IRads e
T P Y JAIIT B § 7

What is meant by Pareto Optimality ? Explain with the

help of Edgeworth box diagram. [10]

NS S0 & ;N ded T ? e s B & |
THEET|
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At which segment of demand curve monopoly

equilibrium will take place ? And why ?

A 9% & fRE AN W OCHEE # Ao
& ? ok i 7

Explain Scitovsky compensation criterion.

Rydiemhl & effergfd AIUETS G

3
\ F
Factor B \ 2
Price A G 1

o Quantity of
a factor

From the diagram given above answer the
following questions :

IR A ’E & IR W 9 O @ ST
T -

(i) What are curves 1,2 and 3 ?
T 1,2 AR 3F| S ?
(i) What does the rectangle ABFG show ?

3MId ABFG 97 &9iial & 7
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(i) At zero cost do the objectives of profit A BT IR BN THHR =T I & a

maximisation and sales maximisation differ ? THIEHN P QM A & IUEK 4 o ® Y
Explain. Wil Al & A e g, qE0 T Ao 7 H aRew
. ?
T SRTT 9T 41 SATehH T T AT feshl o E
% IR R ¥ ? quEmEy UNIT-Il / STE-II
() What are convergent cobwebs ? 4. What is monopolistic competition ? How does it differ
o By i .
AT el 39 from monopoly ? Bring out the role of non-economic
factors in this market form ? [10]
UNITH / -1
T TR 1 § ? 98 THivER 9 6 TR
2. Explain short run and long run equilibrium of a firm under Ry % ? =q IOIX = ?I'{'—GFI'ITQTEE gt & W TIARTY
perfect competition ? [10]
5. Discuss various types of price leadership under
Tf[ SRR e H O wH Slglliil T od T Oligopoly. How is the equilibrium under dominant firm
e AR leadership obtained ? [10]
3. A monopolist faces the demand function Q,=80-2P and RPN & ST T ﬁqm > Y geR @)
the cost function TC=90+2Q+0.5Q?2. Find his equilibrium forrer M el & ﬁ@c_c[ = W 5 9B q O
price, quantity and profit. If government regulates the Aar e ?
monopoly and allows price to be changed be equal to
. o . UNIT-IIl / SE-1II
MC. What will be the changed equilibrium price, quantity
and profits of the monopolist ? [10] 6. In a duopoly market demand function is Q,=180-3P; what

s o Iﬁ"T Q.=80-2P Td will be the equilibrium price and quantity under the
TR e Q,=80- GG NG

i ) . o . .
TC=90+2Q+0.5Q2 & T Tge g, ARl T o Cournot assumptions ? What will be the Chamberlin

solution for this ? [10]
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